

(CIN No. U40109MH2005SGC153646) MAHARASHTRA STATE ELECTRICITY TRANSMISSION COMPANY LTD. INTRA OFFICE COMMUNICATION

	entre commenternion
Name of Office	: Executive Engineer, EHV Projects Division, Kolhapur
Office address	Tarabai Park, Kolhapur.
Contact No.	: 0231-2665320 (P), 0231-2655937 (O)
E-Mail	ee3610@mahatransco.in

Ref.: EE/EHV Projects/Dn./Kop/T/Enq/19-20/No. 223

Date : 07.02.2020

To,

<u>Sub</u>: E-enquiry for the allied work at 220KV Miraj S/s for the re-orientation of end bays.

The sealed & super-scribed quotations are invited for the allied work at 220KV Miraj S/s for the re-orientation of end bays under EHV Projects Division, Kolhapur as per the Schedule 'A' attached herewith, subject to following terms & conditions. The sealed quotations are invited so as to reach this office on or before **15.02.2020** upto 16:00 hours.

Terms and Conditions :

- The quotation shall be sent in sealed cover, clearly super scribed with the words "quotation for the allied work at 220KV Miraj S/s for the re-orientation of end bays". Quotation without superscription is liable for rejection.
- 2) The quotation should be addressed to the Executive Engineer EHV Projects Dn., Kolhapur.
- 3) Work Period : The time period for the completion of the work of Schedule 'A' under this contract will be 1 month from the date of handing over the site of the respective line, otherwise penalty will be charged at the rate of ½ (half) percent per delayed week or maximum up to 10 % of work order value.
- 4) Work shall be in outage period.
- 5) Taxes : The rates quoted shall be inclusive of GST, LWC and all other applicable taxes.
- 6) Rates : Rates should be firm and for the said destination inclusive of all T & P, labour etc.
- 7) Quantity : The Quantity mentioned in the Schedule 'A' is tentative and subject to variation on either-wise. However, payment will be made for the material/Work actually received/ Completed.
- 8) Payment : 100% Payment will be released after completion of work. No advance payment will be released.

- 3) Xerox Copies : Please attach the following documents alongwith quotation
 - a) PAN Xerox copy.

b) GST Registration, if applicable.

- c) Experience Certificate for similar work done in MSETCL within 3 years.
- (•) Security Deposit : 5% of the contract value will have to be paid within 7 days from receipt of the LOA/order.
- 11) Validity: Quotation should be kept valid for at least 45 days from due date.
- Quotation received late / with incomplete details against above clauses will not be considered.
- 13) Right to reject any or all quotations without assigning any reason (s) there of reserved by the undersigned.
- 14) Contractor itself should aware to all terms and conditions of MSETCL.
- 15) Successful bidder is required to execute an agreement on Rs. 500/- stamp with MSETCL.

Thanking You,

Encl.: Schedule A.

Yours Faithfully,

ecutive Engineer EHV Projects Dn., Kolhapur 010

Copy S.w.rs. to -

The Superintending Engineer, EHV Projects Circle, Kolhapur. Copy to –

- 1) The Addl. Ex. Engineer, Substation Projects S/Dn., Kolhapur
- 2) The Manager (F&A), EHV Projects Dn., Kolhapur
- 3) Notice Board.

M/F.

EHV PROJECTS DIVISION, KOLHAPUR

"SCHEDULE - A"

<u>Name of Work</u> : E-enquiry for the allied work at 220KV Miraj S/s for the re-orientation of end bays.

Sr. No.	Description of work	Unit	Qty.	Rate	Amount in Rs.
1	Erection of CC including shifting of material from site store, unpacking of material, erection of CC etc. including fixing of LMU for CC.	Nos.	2	3030	6060
2	Erection of Wave Trap (Pedestal) including shifting of material from site store, unpacking of material, erection of Wave Trap along with pedestal etc.	Nos.	2	4040	8080
3	Bus bar stringing including hoisting of insulator hardware, paving out of conductor and stringing of conductor.	Rmt	30	202	6060
4	Jumpering with conductor including crimping from eqipment to equipment, equipment to bus as directed	Nos.	10	303	3030
5	Supply of earth pit	Nos.	4	3004	12016
6	Excavation of earth pit, back filling with coal,salt & BC soil, etc.	Sets	4	8080	32320
7	Earthing of switch yard equipments, gantry structures, support structures & panels, etc. as directed. It includes laying of flat with excavation, proper bending, drilling, shaping as required as directed by Engineer-in-charge.	Joint	15	157	2355
8	Providing and laying of PVC pipe for control cable including excavation, backfilling, along with bends, tees as required. 110 mm Dia, rigid PVC,	Rmt	25	152	3800
9	Laying, dressing and clamping of control cable (inclusive of clamping material, cable tie, aluminium sheet clamp etc. H.F.cable,75 ohm,	Rmt	300	10	3000
10	Erection of Gantry/ Equipment structure, shifting of material from site store, assembling, erection of Gantry structure/ equipment support structure including foundation bolts, nut bolts, washers etc. incl. minor fabrication works as required.	MT	3	3333	9999
11	Dismanteling of CC including shifting of material from site store, unpacking of material, erection of CC etc.including fixing of LMU for CC.	Nos.	2	2424	4848
2	Dismanteling of Gantry/ Equipment structure, shifting of material from site store, assembling, erection of Gantry structure/ equipment support structure including foundation bolts, nut bolts, washers etc.	MT	2	2666.4	5332.8

Total :							
GST@18% :							
	Sub Total-II :						
	LWC @1% :						
Sub Total-I :							
19	Fixing of G. 1. Tray inclusive fixing of material 600/400 X 40 mm.	Rmt	50	25	1250		
18	Excavation of trench up to 600 mm depth, laying of earthmat, welding, and backfilling complete job.	Rmt	50	48	2400		
17	Dismanteling of Jumps with conductor including erimping from eqipment to equipment, equipment to bus as directed	Nos.	10	242.4	2424		
16	Dismanteling of Bus bar stringing including hoisting of insulator hardware, paving out of conductor and stringing of conductor.	Rmt	30	161.6	4848		
15	Dismanteling of of Wave Trap (Pedestal) including shifting of material from site store, unpacking of material, erection of Wave Trap along with pedestal etc.	Nos.	2	3232	6464		
14	Dismanteling of Cable laid, dressing and clamping of control cable (inclusive of clamping material, cable tie, aluminium sheet clamp etc. H.F.cable,75 ohm,	Rmt	300	8	2400		
13	Dismanteling of Earthing of switch yard equipments,gantry structures,support structures & panels, etc. as directed.It includes laying of flat with excavation,proper bending,drilling,shaping as required as directed by Engineer-in-charge.	Joint s	15	125.6	1884		

I am ready to execute the above work with :

-----% above (in words -----% above)

-----% below)

the estimated cost.

Signature of Contractor

Dated: -

501-

Executive Engineer, EHV Projects Dn. Kolhapur.